MACHINE GUARDING

ASSEMBLY INSTRUCTION
- JUST FOLLOW ME

SINGLE SLIDING DOOR | -
SINGLE RAIL

KIT 36905520

PROTECTING PEOPLE, PROPERTY, AND PROCESSES. | troax.com 88754637 ver. 004 @


https://instructions.online/?id=2345-88754637

g‘f rll.......rIT'-I 1 T

Kit Sliding door single rail 36905520

Kit Sliding Door 3905520

< x2 %M x2

I Méx25 M8x20 6,4x12x1,6

2/5 Kit 36905520 www.troax.com

Art no: 88754637 ver. 004



Y00 18A /£97G/88 10U MY

Kit Bracket SMF

Kit Sliding Door + Bag for kit 5520

toge
Foge

9.
S g i
|0 !

g 't

= | @

3 4

Bag for kit 5520

M8 M8x20 %

I~
I+

,‘?

= Kit Bracket SMF
®é @©® §
® M8x28

www.troax.com

Kit 36905520 3



00 oA /£9Y5/88 10U MY

g Door + Bag for kit 5520

Kit Slidin
8x35

Kit Bracket SMF
MBx08

@

M

Kit Bracket SMF

13

M8x20

M8

Bag for kit 5520

Bag for kit 5520

www.troax.com

Kit 36905520



Bag for kit 5520 @

13

7 @ Lo

= H—'o

= H—o

Bag for kit 5520 ?

Fo b

Bag for kit 5520

Bag for kit 5520

I
j_
/|
/i
/|
/|
/|
/|

Art no: 88754637 ver. 004

Kit 36905520

www.troax.com



